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202 OFl 1,200 1,020 180
= 1,200
01 =Lioit] 1,200 1,020 180
OSMEBAS ZARA 1,200,000 1,200
2 1,200
01 YsrEaZ 2,400 2,400 0
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10 BAAHIZAZ 2,400 2,400 0
OSMEBAS ZARA 80,000 * 305t 2,400
2 2,400
NEEEBIES ] 9,000 9,000 0
= 6,300
2 2,700
CIEY] 9,000 9,000 0
= 6,300
2 2,700
10 JIAHN2ENEE+ 9,000 9,000 0
OXNSstselzy st 9,000,000 9,000
2 6,300
2 2,700
=910l 40 B AKX 50,000 100,000 50,000
= 15,000
2 35,000
AWX2 T2 S 50,000 0 50,000
= 15,000
2 35,000
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2 35,000
02 QIANTNEBE 50,000 0 50,000
ORUIBTZ 8 SEAH
50,000,000 * 17H2 50,000
= 15,000
2 35,000
JlEIesY JgNe 28 1,600,474 1,696,606 £96,132
2 16,850
2 48,000
= 39,850
= 3,900
2 1,491,874
SEXCIIE 25 419,989 804,961 £.384,972
2 16,850
2 48,000
= 39,850
= 3,900
2 311,389
I R AL 32,415 40,000 AT7,585
101 oIty 6,215 0 6,215
10 JAHZEZNSES 6,215 0 6,215
OSINRSIY ¥ 2E2e
35,310 * 2% * 222 « 43| 6,215
201 Lpr2y| 15,000 0 15,000
01 ARl 10,500 0 10,500
OgsrLgH| 7,500
—SI|HAWAME L HESIHLHERD
5 10,000 * 1005 * 33l 3,000
—Hs)I L MEEBAH 248
50,000 * 15CH * 63 4,500
oYxz 3,000
—HSIHANE TSR
500,000 * 1CH * 63] 3,000
;2 B2 4,500 0 4,500
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ONEEHIS A 4,500
—sJIHN=EEH SXNE+
00,000 = 15CH = 32 4,500
206 = Hl 10,000 0 10,000
01 M=ZHl 10,000 0 10,000
ORezasIH+20E 2ERY
5,000 » 100& * 203 10,000
301 dotEaz 1,200 0 1,200
10 HAIAMHIEAZ 1,200 0 1,200
OSIIHAFAR U BYl+2/DS
6,000 = 1008 = 23 1,200
SEXNEIIgXH 46,000 46,000 0
s 23,000
= 23,000
405 KHaHFE S| 46,000 46,000 0
= 23,000
= 23,000
01 T =ESSHSHI 46,000 46,000 0
ST=3 ] 16,000,000 * 1CH 16,000
s 8,000
& 8,000
Oz st ssrze|a UK 30,000,000 30,000
s 15,000
& 15,000
eI =T II=NA 48,200 429,000 A380,800
= 16,850
= 16,850
= 14,500
101 el H] 44,000 17,000 27,000
= 14,750
&2 14,750
= 14,500
09 RIAHAZZXHE S 44,000 0 44,000
OYBIZNEE ¥ 2BA 2204
22,000,000 * 19 22,000
= 11,000
& 11,000
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[ 14,500
206 Tzl 2,200 3,000 800
2 1,100
= 1,100
01 Mz 2,200 3,000 800
OdiSHZEE A=
22,000 » 10& * 103l 2,200
= 1,100
&2 1,100
405 KHeHE SHI 2,000 405,000 A403,000
= 1,000
= 1,000
01 XA ESEFHSHI 2,000 405,000 A403,000
O8ilsdHtaz2d 22 2,000,000 2,000
=2 1,000
= 1,000
SEMSSASI (=% [ZHIXI&) 50,000 50,000 0
s 25,000
= 25,000
307 QI2toI A 10,000 0 10,000
s 5,000
= 5,000
02 2AAEX 10,000 0 10,000
OsXiaZNE HOIFY KRAY
10,000,000 * 1902 10,000
s 5,000
[ia 5,000
402 QIEXE0lM 40,000 50,000 A 10,000
s 20,000
= 20,000
01 QUARE2EX 40,000 50,000 A 10,000
OsXaZME HOIFY KAY
40,000,000 * 1JH 2 40,000
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201 Lpr2 | 231,574 208, 120 23,454
01 AF=R2elt] 15,000 20,000 5,000
O+ gl 7,400
- L EE-BS 400,000 * 34 * 23] 2,400
—2YEY £S%47Y 1,000,000 1,000
~HSXOMETY L FERY
500,000 * 43l 2,000
~NSSYANE L VNS SBHE
500,000 * 4% 2,000
Osg+g 5,800
— x| 50,000 * 12§ * 1162 5,800
Oml=H| 1,800
—HA2Y Y SIIHUESY
180,000 * 521 %23 1,800
2 T2 216,574 188,120 28,454
OZBZe2 2 HA 76,634
—HAEIIR3 2,600,000 * 128 31,200
~RS0MSHEH ®)I23
700,000 * 122 8,400
—SOARINE Y ASAN)ISS
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—SENSAIYE PE ¥ SNTY 4,560
- RE 250+76004 * 128 2,280
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~XNEAMYE ASRETA 2,670
-3 350,000 * 1CH 350
- &8 340,000 * 2CH 680
- 3te 200,000 * 3CH 600
58 260,000 * ACH 1,040
~XEAEE HTRE2 4,000
- 400,000 * 1CH 400
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==y 400,000  4CH 1,600
PN =D P == 42,800 * 6CH * 23] 514
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—EA2EA 500,000 * 33l 1,500
—JIAMER 70,000 » 123 840
— AN B HE= 190,000 * 12& 2,280
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< 3,000
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6% » 42 53]
6% * 42 * 53

498 « 32 * 43|
48 x 32 * 53
3% x 3¢ « 53]
3H * 32 * 53l
3H x 52 * 23]
498 « 52 » 23]
48 » 32 53]
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7,416
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35,310 * 58 * 32 « 53] 2,649
201 Ysr2gyl 6,000 9,500 3,500
02 =22 6,000 9,500 23,500
OA&ZHIS I 6,000
—steagx e 2,000,000 2,000
—ASAYEIBEALRT 22
2,000,000 2,000
—SAHOITAS Kz 1,000,000 * 25 2,000
206 T2l 63,400 67,400 A4,000
EL 63,400 67,400 4,000
OsXSYHSII2HELRY
50,000 * 30% 1,500
OSANHSLHANELY 300,000 * 103 3,000
SPEN-EPE-3- 10,000
~NEEUR (2, IHE)
10,000 * 10Z * 108l 1,000
—RJl27Y 5,000 * 200 * 33| 3,000
-8£7¢ 5,000 * 200% * 23] 6,000
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—2Jl27 4,000 * 800 * 23] 6,400
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~I% 2 527 6,000 * 50% * 20 6,000
OS2I ASABEZSY 6,000
—RJl2 L HIE 4,000 * 1,500% 6,000
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ON&dIRARY 9,500
~NE ¥ HIE 15,000 * 300% 4,500
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BZsgaeladz2dg 40,647 248,500 A 207,853
101 ol t| 9,887 0 9,887
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OsAMF2H AEEX
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201 Lt 8,760 5,000 3,760
01 At 2eld] 3,760 0 3,760
OgBt=2H| 3,760
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OstZ sz ZAIS 400,000 = 308 12,000
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REOME HHLHEH 29 180,627 254,240 AT73,613
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350,000 = 12& 4,200
Jl2ZHl(slI=HH) 64,860 58,524 6,336
Jl=&d| 64,860 58,524 6,336
201 LEH23H] 28,140 22,140 6,000
EEE 28,140 22,140 6,000
Oget=EH| 23,640
—gRAATRY L HE 150,000 * 43l 600
—dEA=EE 75,000 * 2& * 43 600
— =S M 100,000 * 45 * 23| 800
—=AD O W EY
200,000 * 4CH * 32 2,400
~ZRIED| £4 HERIT
100,000 * 10CH * 33l 3,000
—HAEH & EE 60,000 * 1CH = 43 240
—HEAN2EHIS 50,000 » 208 * 43| 4,000
—MNEEZHY 50,000 * 405 * 43 8,000
—SAEX A 20,000 * 2004 Xt 4,000
Or==i:] 4,500
—AZ2S TS 20HAY)
5,000 = 309 * 34l » 10& 4,500
202 o1t 36,720 36,384 336
01 =UWdobl 36,720 25,344 11,376
OJl2YS 280yl
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